
  

  

  

  

  

  

  

  

  

  

  

  

  

Datum: Aufgabe: 157

Industriekalkulation (Normal-IST)

Normal Zuschlag Zuschlag IST Überdeckung
Unterdeckung

Fertigungsmaterial 400.000,00 €          400.000,00 €          

+ Materialgemeinkosten (MGK) + 40.000,00 €            10,00% 10,50% 42.000,00 €            -2.000,00 €

= Materialkosten = 440.000,00 €          442.000,00 €          

+ Fertigungslöhne + 280.000,00 €          
+

280.000,00 €          
+

+ Fertigungsgemeinkosten (FGK) + 420.000,00 €          150,00% 160,00% 448.000,00 €          -28.000,00 €

= Fertigungskosten = 700.000,00 €          728.000,00 €          

= Herstellungskosten
der produzierten Erzeugnisse = 1.140.000,00 €       1.170.000,00 €       

+ Minderbestand + 20.000,00 €            20.000,00 €            

- Mehrbestand - 10.000,00 €            10.000,00 €            

= Herstellungskosten
der umgesetzten Erzeugnisse = 1.150.000,00 €       1.180.000,00 €       

+ Verwaltungsgemeinkosten (VwGK) + 230.000,00 €          20,00% 13,64% 161.000,00 €          69.000,00 €

+ Vertriebsgemeinkosten (VtGK) + 57.500,00 €            5,00% 5,85% 69.000,00 €            -11.500,00 €

= Selbstkosten = 1.437.500,00 €       1.410.000,00 €       27.500,00 €
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